
Lecture 6 - May 22

Lexical Analysis

Meanings, Precedence of RE Operators
RE Constructions and Specifications
DFA: Introduction
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Constructions of REs Meaning of each reg . exp operation is
defined formally by its corresponding

language.
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RE Construction: Exercise
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RE Specification: Exercise
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RE: Operator Precedence

10* vs. (10)*

01* + 1 vs. 0(1* + 1)

0 + 1* vs. (0 + 1)*

- Are RE₁ and RE₂ equivalent?
- A string in L(RE₁) but not in L(RE₂)?
- A string in L(RE₂) but not in L(RE₁)?
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DFA: Exercise

Draw the transition diagram of a DFA which accepts/recognizes 
the following language:

{ w | w ≠ ε ∧ w has equal # of alternating 0’s and 1’s }


